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— %910 7DSBWA NARY TOIBI2 AAN 170 PV
One who washes one hand by pouring and one by immersion , etc.

OVERVIEW

The X3 initially assumed that the query of X92°X was regarding washing each
hand separately (for 0>7> n?°v1). The X3 argued that this can be resolved from the
mawn which states 19°0Ww2a NNXY 79°012 DX the hands are M.

— AIND /152 9132 N9YVWA NNNI D9N 1PN Y991 119 NNN 1T HVI VIVNIPA Y9
“"'wa explained that 79°vwa nnXY 79012 NIX means he washed one hand by
pouring over it from a vessel as the 2°»o1 enacted, and washed the other hand
by immersing it in a river of forty 1x®.

nvoIn asks:
— THIND SUM 911 TP NTH WM 3 NINN VIV 9391 9NN ON)

And if you will say; but how can he resolve the query of X97°X, where he first

washed one hand and then he washed the other, from this 71wn -
— 1Y 199039 1T NOYVLY NNN N2 NYYY 2991 NIN N1YY

Perhaps here in the 7iwn we are discussing a case where he simultaneously did

797w to one hand and 57901 to the other, but the query was when they were done one after
the other!

N1B0IN answers:
— 153113 XY 1T 9NN 113 ONT NIANDNT PIPN PRT ©7/YN 92077 )Y U

And one can say; the X9»3 assumes that there is no difference, for logic

dictates that if washing the hands one after the other is not effective then -
— 29N 9599 1% 19 AT 9991 11 P 79OVIa 1INY 129N 23N1I Y 919 HNN NALT PN NN

The same law applies that if he washed both hands simultaneously it will also
not be effective and even if both were done by 17%°v1, meaning one hand from
this vessel and the other hand from another vessel.

mooin offers an alternate explanation:
—>n7110 1715 HNR NDVWN NNX 1> HOI NMIYNN 9 ¥ D) 0N 1229

' The query (as currently assumed) was whether it is necessary to wash both hands together or they can be washed
separately, if they must be washed together (the X3 assumed) they must be washed from one *?5 and not (even)
from two 0°73, and certainly not 79°0w3a NAXY 72°012 NAX. See ‘Thinking it over’ # 1.
? According to this (supposition) one needs to wash both hands simultaneously from one *23 (by another person).
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And the n'"9, based on the nywn, reads the text of the mwn as follows: ‘he

washed one hand with one *75°uw that hand is 7997°.5 This concludes the 71wn -
— N2 NN RINT NI YWY NIV YT 0NPTI VIVIP)

And the X3 resolves the query of Xo?°X, since the mwn reads 79370 179 (in the
singular); it is evident that one hand at a time is effective.

mMdOIN continues to explain the mwn:°
— DY /2 175 JY Y951 11 TIOVD TPI8Y HNN NOYVWN 1YW ’9M)

And this is the explanation of the m1wn when it says iR pswwn; for it is known

that [generally] it is necessary to pour from the vessel on his hands two times -
— 7991w DINWUNY DN o987 ©>7° NIV *NINT NI NIINTD

As is evident in many places in 2°7> noon, that there is a requirement for the

first waters and the second waters (one has to pour twice on his hands) -
— 811‘1111\? 1 DNV NNV NYITY HNN NDYVYWN NNX 17 YV ON) MNP NN A0

And regarding this ruling of 21w 1WA o, the mawn states that if he washed
one of his hands from one large pouring of water, which is the equivalent of

two individual pourings, his hand is 79770 -
— 02V OIYNI 09 9NV 1N NIVVYI VIV 1D

Since this one 9w has the amount of water that is in 2912 291K 29 -
— DYY229 DIVIY 1Y RNVN 9NN 229 NNNX NDYVYA 179 YNV NOYDA 00N NP

And the 71wn concludes in the 82%%; if he washed both hands with one pouring,
' considered his hands X»v unless he washes from a vessel which contains a
NYYoan of water-

Moo responds to an anticipated difficulty:
— TRy sya RY MOYOY HNWA YUNWAT 1) YY 9N
Even though, that when he washes in two pourings a nsy>a9 is not necessary,

nevertheless -
— 17 NOYLYA NPT TIIX HNN NDPVYW NIN NIDT NNYN

? This is the Xo7°3 how it appears in our Nvawn (not like *"w X137 NOTY).
* It will be soon evident that the N interprets 75°0® to mean pouring but not immersing as *"w explained.
> Afterwards he washes the other hand. This proves that the hands need not be washed simultaneously.
® See “Thinking it over’ # 2.
7 A second pouring is necessary because the waters of the first pouring become X»u when the come into contact with
the hand, which is considered Xnv.
¥ A (regular) 7o°vw is the amount of water necessary to entirely cover the hand. Two m2ow is double that amount
(and it is [still] less than a n°¥°27 [see 772 MR 7"210 in the third 7"X21]).
? This is valid only if initially there was a N¥°27 in the vessel (and it was used for *"u3); the remaining water is called
77v 1w K and if he pours twice from this 7970 "W it is a valid 77°03. See R"wnnA.
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Now that there is only one pouring, this pouring requires a n°ws2" -
— DNV YPYUN INN D NP TP9Y PN HNN 1T YaN
However, for one hand a n°y°21 is not necessary if it comes 7770 »vwn'® -
10NV N9 NYVY NN NNINY NOHN
Provided that it should be a ;75°uw which is equivalent to two moow."

SUMMARY

According to *"w" the text of the mwn is 79°VWA NARY 79°012 PR, and 79°VW means
immersion; according to MdOIN the 7Iwn reads NNR 79°0WH NNX 177, and 79°0Y means
pouring.

Initially the vessel must contain a n°¥°27 of water and each hand be washed twice.
If part of the water was already used for 719°01, the remaining water is called W
7770, When pouring on one hand (only), one may pour once (even less than a
n°y°17) provided that it is the amount of two NM9°vw and the water is 777w "W, If
one pours on both hands together from 777V °w; if he pours twice a N’¥°27 is not
necessary, however if he pours once 2°1w> 72177, a N°Y°27 is necessary.

THINKING IT OVER

1. m»doIn initially asks on *"w7 how the X mi resolved the query from the mIwn.
Subsequently, mpoIn explained the answer according to *"w2.'> What changed in
mpoin understanding between the question and answer?"

2. Why was it necessary for moo1n to explain in detail'* the 7awn in 27> noon?

1 See previous footnote # 9.
" When pouring water on one hand (only) it is not necessary that the vessel from which he pours contains a ny*21
(since the pouring is from that which remained from a n°y>27), however it is necessary that the amount of water in
the vessel (being poured) is the amount of two pourings.
12 See footnote # 1.
" See 7 nx 7"0.
' See footnote # 6.
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